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î �����

���� k � ��� ��������� ��� ������� �� ���������� � �� ������������ �

������� �� ������ �� �q � ���� �� ����� ��� ���� ��� ����� �ML−2T−1�

����� ��� ������� kgm−2s−1� ������ � ��������� k ��� ������� �� L2T−1

����� ��� �������� m2s−1�

������� ������ �� ��� �� ���� �� ����� �� ����� ��������������� ��������

��� �������� ��� ���� �� ������ ���� �� ������� ��� ����� �� ����� �������

������ �� ��� ����� ������ ����������� ���� ������� ������� �����������

����� ����� ������ � �� �������� �� ������� ���� ����������� ����� �����

���� ��� � ����� �������� �� ���� �������� �� ������� ������ ��� � ������

����� ����� ���������� � �� ������� ������ �� �� ������� �� ��� �������

������� �� ������� �������� ������� �������� ���� ���������� ���� �� �

��������� � ������ ����

����� ��� ������� ������� ��



����������� �������� � ��������� �����

�q = −k�∇C �����

���� ��� ���� ��� �������� ���� �������� ������������� ���� � ������������

�� ��� � ����������� ��� �������� ���� � ������������ �� ������ ��� � �����

���� ���� ������������ ����� � ��� �� ������� ���� ����

�qt = −kt�∇T �����

���� kt � � ������������� ������� � ��� ���� ������� �� ������� �� �����

Jm−1K−1s−1 ��� �� ������� ������������ Wm−1K−1� ����� ����� � ����

� ����� �� ���� ��� Jm−2s−1�

��� ������� ����������

����� ��������� ������� ������� ������� �� ������������� �� ��������

����� �������� �� ����� ����� ����� ���� ������ ��������� ��� �� �����

������ ��� ����������� ��������� �� ������� x� � ����� �� ������� ���

�� ������ ��� �� ���������� ��� � ����� ���������� ��� ������� ��������

����� ��� ��� ������ ��������������� ����� ������ � ������� ��� �� ������

� ���� ��� �� ��������� � ����� �� ��������� ��������� ��� � ����������

���� ������ �� ������� ������������� �� ��������� ��� ������ �u = u(z)�� �

������ �� ������ ����� �� �������� ������� �� ������ ��������� ���� ������

�� ������������ �τ� ��� � ������������ � �������� �� ����������� � ���� ���

������� ���� ���� �� ������� �� ��������

τ = µ
du

dz
�����

���� µ � ��� ��������� ��������� ���� ����������� ���������

���� ������� � �������� ������� �� ���� �� ���� � �� �������� � ������ �������

����� ��� ������� ������� ��



����������� �������� � ��������� �����

������ �� �� ���� �� ��������

�������� ��

������ �� �������� ��������� �� ����� ������� ����� ���� ������ �����

����� ��������� ��� ��� ��������� H� ��������� ��� ��� ��� ������ ���

���������� ����� � u0 � � ����� uH � ��������� � ����� �� ����������� ������

� ��� �� ������� �� �������

����� ��� ������� ������� ��


